18" FIELD DRILL 1/2" DIAM. HOLE 20" NOTES
FOR DRAIN FROM THE INSIDE 1 Junction Box shall b ructed of 12
TO OUTSIDE ~ ONE SIDE ONLY " " " " . Junction Box shall be constructed of 12- gage,
LOCKNUT ~ SEAL | SOUIPMENT BONOING JuuPeR NLOWESTCORNER-SEALWITH  OO8¥'| | 62 | e | exw Type 304 stainless steel with welded searm
WITH BEAD OF ! BONDING JUMPER CONNECTION A E'T'ig"?s’;‘_gész'(fg) STANDARD ' ' ' ' construction. Finish shall be # 2B for backbox
SO CACER | DETAIL STANDARD PLAN J-40.40 ' t ‘ ‘ ‘ ‘ and # 4 for the cover. Mounting Tabs shall be
(TYP) = oEE . T e e constructed of 12-gage, Type 304 stainless steel.
o] - - 2. Holes for conduit(s) shall be field drilled or
N | | | | punched in box ends. See SIDE VIEW.
v R e : - SYSTEM I.D. - s : ;
] ‘ ‘ ~ SEE NOTE 4 ‘ ‘ 3. Fittings shall be UL listed and CSA-certified
M . . . ! concrete tight on the outside of the Junction Box
) 4} A% conduit connection. Use an insulated, grounded
el — T — 70— GMNF T — O end bushing on the inside for GRS conduit.
| ‘ ‘ ‘ ‘ 4. The System Identification letters shall be 1/8" line
' . & - - - - thickness formed by engraving, stamping, or with
(TYP.>—‘7— -~ 2 INSE»&STQEBSGHR%UPI'?(ES : <$> ‘ ‘ . ‘ ‘ a stainless steel weld bead. See Standard
VIeY s 1 3 1 - < . | oS 0 TOTAL T\ . Specification 8-29.2(4) for details.
MOUNTING ' i Q@ -—©) | ‘ ‘ ‘ ‘ 5. Liberally coat the threads of the cover fasteners
TAB (TYP)) o T ? T T (?____ ____ﬁ} ' with anti-seize compound during construction and
& 1.5" ' ' ' ' before final closure.
(1) 5/8 NC x 3/4" STAINLESS & i -
Q) STAINLESng'FIIE-E?_ThLIJL?TVXIJg OrYE e gﬁ:EGLsET QSRSR%"WPJE?{°"° FRONT VIEW 6. Detail shown for box installation is Slip-Form Traffic Barrier.
(2) STAINLESS STEEL WASHERS SIS N o R PERMANENT COVER 7. Conduit capacity = 8".
~ (4) PLACES TOTAL 12-GSATGEIfE.I_T\\,(VII’1I_E|_|3;;‘11 SlelghEss 8. Conduits shall enter the Junction Box from the ends as shown.
ADJUSTMENT TAB ~ 9. This Junction Box type shall not be surface mounted. For Surface-
2 SEE DETAIL - JUNCTION Mounted Junction Boxes, see Standard Plans J-40.38 and J-40.39.
g 'l BOX WALL I e 10. Equipment Bonding Jumper shall be # 8 AWG (min.) x 1 foot of tinned,
(&] (TYP.) ADJUSTMENT _ e braided copper.
< = A
] TAB Rl 3 11. When converting RMC to PVC in Stationary-Form Barriers, route a # 8
.. - Stranded, Non-Insulated Grounding Conductor along Conduit, secure
& Conductor to Conduit with clamp as shown on Conduit Deflection
§ J - Fitting "B" detail, convert RMC to PVC in Stationary-Form Barrier (per
3 L mi ‘ 0.5118" Standard Plan J-60.11): omit Conductor when this detail is not used.
& — 16 SKEWED VIEW 5/16" BOLT TACK =] N/ 20118 " i . i ) .
L WELDED TO TAB ' . 12. When additional Conduits are required, Bonding and Grounding wiring
d D LaiCTION BOX SF%%V‘C’:"I‘_AV&;[F@O(.‘)JJLY) 0.25" DIAM. RADIUS 1.75 shall match configuration as shown in the perspective view. See
SECTION ' ' Contract for number and size of additional Conduits.
ADJUSTMENT TAB SECTION ADJUSTMENT TAB _ _
MOUNTING DETAIL DETAIL 13. Apply a 3/16" bead of caulk around Junction Box body and Adjustable
SYSTEM IDENTIFICATION Face to provide a proper seal prior to installation.
DETAIL 11/2" x 1 1/2" x 1 1/2" x 12-GAGE
0.6208 ADJUSTMENT TAB (TYP.) ~ SEE DETAIL ~ 1" (TYP) MOUNTING TAB (TYP.) —
- =y = 1" (TYP. s ' G5ty
o I (TYP) TAPE (4) SPARE 1/4 - 20 x 1" STAINLESS STEEL ﬁ’f = 0.5" DIAM. ADJUSTMENT § : ;E’ £g
1P ‘ ﬁll-g:_l__l)_llnglngg )I(-IEAD SCREWS TO THE BACK ITS HOLE (TYP.) TAB (TYP) ~ S$33sd
REEE
y SEE NOTE 4 (1) 5/8 NC x 3/4" STAINLESS -+ __ gf:_‘_‘_:_‘_‘lna;:“‘““““‘1 I %%9;-@;
STEEL STUD WITH _"/—v —————————— b= i\ ! VERTICALLY CENTER CONDUIT Juges
(1) STAINLESS STEEL NUT AND o | IN JUNCTION BOX ~ UNLESS =g sod
(2) STAINLESS STEEL WASHERS i 4 ) INSTALLING ADDITIONAL 83 F 5%
~ (4) PLACES TOTAL | CONDUITS g h % 2
S N
o POSSIBLE CONDUIT LOCATION i i ! I L % 3
~ SEE NOTE 12 \ ‘ |__ 55%%5
|
<D Equipment Grounding Conductor 0.3346" || ) I,,ff’jﬁ:ﬁ\} i b ¥ NEMA 3R ADJUSTABLE
& <2> Copper Solderless Crimp Connector - &ZZ::::H&E\‘L\#;Z' 4 i ® Ibh’g¥;gggg;
; Equipment Bonding Jumper ~ L
i < Equipment Bonding Jump To | STANDARD PLAN J-40.37-01
- ‘ . . 35" 3>ROUTE TO
- | 5" | g" i 5 | <&> Equipment Bonding Jumper AL N R A GROUND STUD _ SHEET 1 OF 2 SHEETS
58 N /'4" TAINLE ! ! ! <5> See Contract for conduit size 2 875" FACE APPROVED FOR PUBLICATION
O N STEEL sTuD WiTh EQUIPMENT BONDING JUMPER and number Pasco Bakotich ll  5/20/13
(1) STAINLESS STEEL NUT AND N O S DONELE N <& # 8 AWG Stranded, Non-insulated SIDE VIEW STATE DESIGN ENGINEER DATE
V)] STAINLES~S( STELE{-C\IIEVQ%l%ﬁ FRONT VIEW DETAIL STANDARD PLAN J-40.40 Grounding Conductor ~ See Note 11 VERTICALLY CENTER AND MAINTAIN REQUIRED '7" Washington State Depariment of Transportation
JUNCTION BOX SPACING WHEN INSTALLING MULTIPLE CONDUITS




ADJUSTABLE FACE

20.343" N
) ] ] ] ) ) . 1 1/4" x 1/4" CLOSED CELL 3.428"
0.8148 ! 6.2378 | 6.2378 | 6.2378 | 0.4055 275 1'2 = NEOPRENE GASKET : i REINFORCING
Tp) | . . . 5= SEE NOTE 13 STEEL
| | S TEMPORARY COVER
- 3 JUNCTION BOX
. N _ _ o _ _ o - _ _ o- = ‘ TEMPORARY ACCESS = G /
L P P, S i | COVER i = e
o ‘ I ! | i st W - - T - ﬁf‘ - |
v B|E I . . o ! wmf—— - ! & | |
8 ° . I | ! . | | N b I
© \ | 1/4 NC x 3/4" STAINLESS STEEL GROUND STUD i | 0.375" DIAM. HOLE ! ! 3 } @ !
¥ o WITH STAINLESS STEEL NUT AND ! (TYP.) ~(10) TOTAL | | |
5 | (2) STAINLESS STEEL WASHERS | / ! 5 ! !
|
34— # S | — - = 2 - — 1= |
S \ ! <3> ROUTE TO GROUND, Ly ! N 10 - 32 NF x 3/8" STAINLESS !
. N EN STUD ON BACK OF BOX | 1.25" STEEL SELF-TAPPING I
s :<——! ‘ —_ | i B SCREW (TYP.) ! :
o ‘ | IS | ! ' ~ (6) TOTAL ! ; !
g o | 1 © [ ! ! ! |
) | | sE | 4 ' ; |
! - - - =l |
R S 5 ————————————————— T A | = i =S W s A J
4 ¢ \ - ——— o — - —0- =
| | } | | ROUTE TO GROUND @
STUD ON BACK OF BOX
) TS FRONT VIEW SIDE VIEW 1/4 - 20 NC x 1" STAINLESS STEEL NE
= PHILLIPS PAN HEAD SCREW (TYP) ASSEMBLY DETAIL
e 17.5884" ~ (10) TOTAL
O
S 4.6067" 7.625" 4.6067" TEMPORARY v
2 13773" 15" 0.375" COVER ™y
5 | ~ Faves 1 1/4" x 1/4" CLOSED CELL
. . 1/4 - 20 NG x 1" NEOPRENE GASKET TACK WELD NUTS N WASHER
S | STAINLESS STEEL TO THREADED ROD o
g ! ! ] i PHILLIPS PAN HEAD | i
o | . &l i | SCREW NS
| Qo (] t N~ | I4 7
! we o | ¢ - —— -
H | 1 U H H U | H f,, i TEMPORARY " 5/16" x 5 3/4" THREADED ROD
- e e e ] 5 g COVER A
P P
" ADJUSTMENT BOLT DETAIL
1/4 NC x 3/4" STAINLESS STEEL GROUN& TOP VIEW MOUNT BOX SO COVER IS ELUSH U
STUD WITH STAINLESS STEEL NUT AND ADJUSTABLE FACE WITH BARRIER FACE WITH A 0" 1/4 - 20 NC x 1" STAINLESS STEEL
(2) STAINLESS STEEL WASHERS TOLERANCE PROTRUDING BEYOND SEALED WELL NUT WITH DAM AT
BARRIER FACE AND 1/8" RECESSED REAR TO PREVENT CONCRETE
20" INFILTRATION ~ TACK WELD
WELL NUT ~ (3) PLACES
0.6433" | | 6.2378" | 6.2378" | 6.2378" | | 0.6433" DETAIL
I I I 1 N S
25" | | 15" | L L25" §8kg,
25 16" EH
%258
* 1 1 1 ! 5" | 6" | 5" E g E E §
' ! 12352
o — o — - —— - —— —— - —— - 4% . , Zytss
% ! ' 0.15625" DIAM. HOLE ! ! srsks
£ g O \ [ (TYP) ~ (6) TOTAL . O - g kg =5
o B| 3 | . giies
< | | | " | By @ g a g &
i . ! _0.25" | . FHE
o (Typ) || | | gad ; g
- g N PN - - - - - - - PN SFE
- o- °r :u) - II - - - II_ - - __+_ - ‘9 (o _e— E E ; g g
2a kT
B . | ! . ?7%5 Blal;n.TgcTakE n NEMA 3R ADJUSTABLE
3 /™ : L ; FLUSH-MOUNT
o | | b g‘; \ s DIAM. HOLE JUNCTION BOX
1 1 n_- 3 . -
L ¢ — - — | 4{ ﬁ—ﬂ: S|E (TYP.) ~ (6) TOTAL STANDARD PLAN J-40.37-01
0.375" DIAM. HOLE | | | SHEET 2 OF 2 SHEETS
(TYP.) ~ (10) TOTAL 45" | &" | 45" 1.6208" FRONT VIEW APPROVED FOR PUBLICATION
1 1 | ,
(TYP.) TEMPORARY ACCESS COVER Pasco Bakotich Il 5/20/13
FRONT VIEW 12-GAGE STAINLESS STEEL STATE DESIGN ENGINEER DATE
TEMPORARY COVER

12-GAGE STAINLESS STEEL

Washington State Department of Transportation
7/




	j40.37-011_e
	j40.37-012_e

